

CENTRAL WAREHOUSING CORPORATION (A GOVT. OF INDIA UNDERTAKING)

CONSTRUCTION CELL
NEW MARKET COMPLEX
CMC BUILDING (6TH FLOOR)
15N, NELLIE SENGUPTA SARANI
KOLKATA-700 087

Date: 03.02.2017

No.CWC/CC-Kol/NIQ/2016-17/

NOTICE INVITING QUOTATION

NAME OF WORK: AR & MO work for the year 2016-17 at CW, Kishanganj (Bihar)

Sealed percentage rate quotations are re-invited from the approved contractors in appropriate class.

The quotation papers may be had from the office of the EXECUTIVE ENGINEER, CENTRAL WAREHOUSING CORPORATION, New Market Complex, CMC Building(6th floor), 15N,Nellie Sengupta Sarani,Kolkata-700 087 **free of cost** in working hours from 10.00 a.m. to 04.00 p.m. on or before **10.02.2017**.

Estimated cost of work is **Rs. 82,859.56.**Earnest money to be deposited amounting to **Rs.1700/-** in the form of D.D./ pay order of the schedule Bank in favour of **Executive Engineer, Central Warehousing Corporation, Kolkata** (payable at Kolkata).

The quotationers are requested to quote the rate in schedule of work enclosed at page No.05 and the same/quotation duly completed schedule of work under sealed envelope super scribing the name of work shall be submitted to the office of the EXECUTIVE ENGINEER, CENTRAL WAREHOUSING CORPORATION, New Market Complex, CMC Building (6th floor), 15N, Nellie Sengupta Sarani, Kolkata-700 087 up to 15.30 hours on 13.02.2017 and the same will be opened at 15.30 hrs. on the same day in the presence of quotationers/contractors who may wish to be present at the time of opening.

The quotation papers can also be down loaded from the web site <a href="https://www.cewacor.nic.inand www.tenderhome.com

The Central Warehousing Corporation reserves the right to accept or reject all/ any part of quotation without assigning any reason there-of.

EXECUTIVE ENGINEER

Copy to:

- 1. The Regional Manager, CWC, RO, Patna
- 2. The Sr. Asstt. Manager (A/Cs), CWC, CC, Kolkata
- 3. The Assistant Engineer, RO, Patna
- 4. The ASW, CWC, CC, Kolkata.
- 5. The Warehouse Manager, CW, Kishanganj.
- 6. Notice Board of CC Kolkata / RO-Patna/CW-Kishanganj.

EXECUTIVE ENGINEER

CENTRAL WAREHOUSING CORPORATION (A GOVT. OF INDIA UNDERTAKING) Schedule of Quantity

Name of Work: AR & MO work for the year 2016-17 at CW, Kishanganj (Bihar)

S1 No	Description of item	QTY	UNIT	RATE	AMOUNT
1.	Demolishing brick work manually/ by mechanical means includingstacking of serviceable material and disposal of unserviceable materialwithin 50 metres lead as per direction of Engineer-in-charge. (a)In cement mortar	3.23	Cum	310.75	1003.72
2.	Removing mortar from bricks and cleaning bricks including stackingwithin a lead of 50 m (stacks of cleaned bricks shall be measured): (a)From brick work in cement mortar	724.00	1000 Nos.	998.80	723.13
3.	Dismantling old plaster or skirting raking out joints and cleaning thesurface for plaster including disposal of rubbish to the dumping groundwithin 50 metres lead.	11.00	Sqm.	8.20	90.20
4.	Providing and laying in position cement concrete of specified gradeexcluding the cost of centering and shuttering - All work up to plinthlevel: (a)1:5:10 (1 cement : 5 coarse sand : 10 graded stone aggregate 40 mm nominal size)	6.21	Cum	2237.75	13896.43
5.	Providing and laying in position specified grade of reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level: (a)1:1.5:3 (1 cement: 1.5 coarse sand: 3 graded stone aggregate 20 mm nominal size)	1.50	Cum	3732.00	5598.00
6.	Centering and shuttering including strutting, propping etc. andremoval of form for: (a)Lintels, beams, plinth beams, girders, bressumers andcantilevers.	7.82	Sqm.	162.65	1271.92
7.	Reinforcement for R.C.C. works including straightening, cutting, bending, placing in position and binding all complete upto plinthlevel. (a)Thermo-mechanically treated bars	93.00	Kg	42.70	3971.10
8.	Filling of gap in between of Gable wall & Long wall of godown No. 2 and finishing complete.	5.50	Rmt	184.40	1014.20
9.	Brick work with F.P.S. bricks of class designation 75 in foundation and plinth in: (a)Cement mortar 1:6 (1 cement : 6 coarse sand)	3.23	Cum	2121.75	6853.25
10.	12 mm cement plaster of mix : (a)1:6 (1 cement: 6 fine sand)	21.10	Sqm	67.65	1427.41
11.	White washing with lime to give an even shade: (a)New work (three or more coats)	8.15	Sqm	6.75	55.01
12.	Applying one coat of cement primer of approved brand and manufacture on wall surface : (i)Cement primer.	13.00	Sqm	17.20	223.60
13.	Finishing walls with water proofing cement paint of required shade: (i)New work (Two or more coats applied @ 3.84 kg/10 sqm).	13.00	Sqm	30.80	400.40
14.	Cement concrete flooring 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry but excluding the cost of nosing of steps etc complete. (a)50 mm thick with 20 mm nominal size stone aggregate.	83.00	Sqm	224.00	18592.00

S1 No	Description of item	QTY	UNIT	RATE	AMOUNT
15.	Dismantling and providing asbestos cement 6 mm thick corrugated sheets roofing and fixing with G.I.J. or L. hooks, bolts and nuts 8 mm dia G.I. plain and bitumen washers complete (excluding cost of purlins rafter and trusses) corrugated sheets up to 60 pitch (with one and half corrugation overlaps).	14.14	Sqm	400.50	5663.07
16.	Supply & lying saturated felt type 3 grade-I (Hessian base) on top of AC Ridges with suitable blow type petroleum bitumen of penetration of 85/25 of approved quality by applying 1.45 Kg. per sqm. (The Hessian type tarfelt should be of approved quality and conform IS.1322)	88.00	Sqm	117.35	10326.80
17.	Providing and fixing ridges and in asbestos cement sheet roofing close fitting adjustable ridges (A.C. ridges shall confirm to I.S. code 1626 (Part-III)-1981)	46.36	Rmt	246.10	11409.20
18.	Providing gola 75x75 mm in cement concrete 1:2:4 (1 cement : 2coarse sand : 4 stone aggregate 10mm and down gauge) includingfinishing with cement mortar 1:3 (1 cement : 3 fine sand) as perstandard design : (a)In 75x75mm deep chase	5.05	Rmt	67.35	340.12
Total Estimated Cost (From sl. No. 1 to 18)Rs.				82859.56	

(Rupees eighty two thousand eight hundred fifty nine and paisa fifty six only)

Credit items:

S1 No	Description of item	QTY	UNIT	RATE	AMOUNT
1.	Bricks	724.00	1000 Nos.	7000.00	5068.00
Total Credit Value Rs.					5068.00

(Rupees five thousand sixty eight only)

EXECUTIVE ENGINEER

TERMS & CONDITIONS:

- 1. Works should be executed as per CPWD specifications.
- 2. Water & Electricity will be arranged by the contractor at his own cost.
- 3. All T&P required for the work shall be arranged by the contractor at his own cost.
- 4. The rates are inclusive all lead & lifts etc.
- 5. All taxes Income Tax, Work Tax etc (except service tax) as applicable will be deducted as per Govt. Rule from the contractor bill.
- 6. 10% Security Deposit will be deducted from the gross bill amount & will be released after the defect liability period of six months which will be reckoned from the date of successful completion of the work. In case any defect is found within the defect liability period, the same shall be repaired by the contractor immediately at his own cost.
- 7. Contractor will be fully responsible to labour payments, accident, mishappening, damages & other labour welfare & safety measures.
- 8. Time allowed for completion of work is 30days, not later than 31.03.2017 from the date as to be mentioned in the work order.
- 9. The above shown quantities are tentative & may vary as per site condition.
- 10. All payments will be released through e-payments by CC, Kolkata.
- 11. Sales Tax or any other tax on material as promulgated by Govt. of India from time to time in respect of this contract shall be payable by the contactor and Central Warehousing Corporation will not entertain any claim whatsoever in this respect.
- 12. The rates quoted are exclusive of Service Tax or any other Tax levied by the Central Government in lieu of Service Tax and the same will be payable by the Corporation over and above the Schedule of Rates.
- 13. In the event of any of the documents found fabricated / forged / tampered / altered / manipulated in the NIQ, then the EMD of the contractor would be forfeited and he would be debarred for participating in CWC tendering for 5 years.
- 14. The voucher for Cement, paint, Bitumen & Steelshould be produced while submitting the bills.
- 15. The party to whom the work will be awarded will execute a formal agreement with CWC on a non-judicial stamp paper of appropriate value.
- 16. The steel for reinforcement against item no.7 shall be arranged by the contractor from BIS license holder manufacturer.
- 17. Payment against steel items shall be made on practical or theoretical weight, whichever is less.
- 18. Cement to be used in the work would be PPC in conformity with the relevant B.I.S codes and should be arranged by the contractors from major producers.
- 19. In the event of failing to execute the work within quoted rate the EMD of contractor would be forfeited & he would be banned for a period participating of 5 years in CWC tender / quotation.
- 20. Copy of PAN CARD and Service Tax Registration along with quotation / tender document shall be submitted.
- 21. The rate quoted will remain valid for 60 days w.e.f date of opening of bid.

EXECUTIVE ENGINEER



CENTRAL WAREHOUSING CORPORATION (A GOVT. OF INDIA UNDERTAKING)

NAME OF WORK: AR & MO work for the year 2016-17 at CW, Kishanganj (Bihar)

Estimated cost from item No.1 to 18 is Rs. 82,859.56(Rupees eighty two thousand eight hundred fifty nine and paisa fifty six only)

a) I/We hereby tender our rates as	%
	percent)
ABOVE the rates entered in the schedule of quantities	es from item No. 1 to 18.
OR	
b) I/We hereby tender our rates as	%
	percent)
BELOW the rates entered in the schedule of quantities	es from item No. 1 to 18.
Note: 1.Quotationers should quote their percentage ap	ppropriately either at (a) or
(b) as the case may be.	
2. No enhancement or abatement is applicable	for credit value item 1.

EXECUTIVE ENGINEER CWC, CC, KOLKATA